AP R RENFET 5 (RI5) B 5 B #

S7E3A8H (£|R)
Fx ENSEfashE: 1623 b

(B ILHEREST)
BE ox e HIFE R (ko) 1 #Y3E Xt ERE |
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
13010072V A [y 13,560
130100|7 W A Tz 590 240| 10 2,160
13010072V A ES 7,470 7,470 10 2,808 1,080
130100|7 W A RI& 240 240| 10 2,700
130340 ICA LA [y 11,610
130340 ICA LA Ri& 4,970 4,970 10 3,888 1,944
130340 ICA LA REAR 500 500/ 10 3,942
130340 ICA LA BRS 5,640 5620| 10 3,996 2,268
130400| 1% 5 iy 966
1304001 5 Eix 650 0 650/ 10 4,860 2,376
130600|1LA Z A iy 2,500
130600{1 A T A Ee 1,440 0 1,390 5 4,320 864
131100|H 3 iy 22,087
131100{A 3 Ri& 10,800 0] 10,800 15 4,860 3,564
131700|F v+ R [y 31,709
131700(%F v~ =5 16,720 14,330 10 3,024 1,944
131700(%F v ~ & 11,664 11,364 12 2,160 1,080
131700(%F v~ AL 1,600 1,600[ 10 1,944 1,728
131800(IF S MAE [y 1,931
131800(I1F 5 WA= FfE 389 347 421 0.2 108 70
131800(IF S MAE &6 1,265 0 1,261 4.5 3,510 2,970
131910|F & HE 1,270
131910|Fh & KR 14 14| 0.045 63 62
131910|F & BE 101 99| 0.5 378 302




131910(Fh & [ 525 525 1 1,728 1,080
131910(F R & &) 400 400| 10 3,564
131910(Fh & iR 30 30 05 335 324
131950|H A & HE 961

131950(B A& =33 290 0 215 5 3,564 2,592
131950|H A & SER 320 0 183 3 2,376 972
133400(L % 2 et 16,096

133400|L & = Ik 6,304 0 6,190 10 2,592 1,404
133400(L % 2 FE 5,212 0 4,872 10 2,700 1,944
133400(L % % = 3,100 0 3,100f 10 2,700 1,296
133400(L % 2 & 872 0 664 4 2,376 1,296
133400(L % % R 600 0 600 10 1,566

134100 |#8/1 et 12,360

134100 (&A1 hy= 1,940 0 1,940 5 1,944 1,296
134100 |#8/1 Syt 2,020 0 1,370 5 2,160 1,512
134100|#A/1 = 6,990 0 5,410 5 2,268 1,404
134100 |88/ BES 410 0 410 5 1,512 1,404
134200(F /1 e 1,130

1342007 I —a1—-Y—-5vF 1,130 0 1,130 10 2,808 2,160
134300(#6F 1 2,606

134300 (%6 7 S 297 297 2 1,026 648
134300|50F = 1,861 1,307 0.3 130 108
134400| k< k et 4,875

134400| k= k & 1,141 1,141 1 356 324
134400| k< k KRG 2,615 2,615 4 1,620 1,404
134400| k= k REZR 1,076 1,076 1,728 1,080
134500| " — < > e 5,786

134500| &’ —~< >~ =40 1,179 1,170 0.15 119 108
134500| " — < > =y 4,272 4,272 0.13 122 97
134500| &’ —~< >~ BB 250 250 0.13 97




135100 WA F A ¥ 80

135100| W A LT A = A 54 44 2 4,752 3,672
135200|%= ¥ 56

135200|%= ANER L 56 54 2 3,780 1,944
135300|— X ¥ 210

135300 &"— X FOFRL 110 110 2 2,376 1,404
135300|— X RS 100 100 1 1,728 1,350
136100(AA L & ¥ 10,780

1361001 A L & T 1,905 1,905 5 1,512 626
136100(AA L & & 3,020 2,880 5 2,160 540
1361001 A L & Ry 5,825 5,825 1,836 1,080
136200|E 5% TeE 870

136200| %5 timE 870 870 10 3,456 1,966
136300|2F ¥ 490

136300|8F EiE 100 100 10 3,240
136600|7z & ¥ 12,705

136600|7- A & Jtime 10,370 10,370 20 3,024 2,808
136600|7z & & 1,415 1,415 10 3,564 2,376
138100|& L W7zl ¥ 1,660

138100(& L W /o ld BE 1,631 1,477 0.2 270 103
138500| L& LE ¥ 6,000

138500(L® LE g 2,987 2,554 0.2 99 81




AP R RENFET 5 (RI5) B 5 B #

S7E3A8H (£|R)
LSS ST E 198 bk

(B ILHEREST)
BE ox e HIFE R (ko) 1% #Y3E RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
240700 @EINAN A |HEL 437
240700 @EINANA | EE 437 0 4371 10 4,320 2,484
241260|HE # M A [y 400
241260|HE A H A B 400 0 400 10 2,160 1,890
241300 (A% 1H [y 690
241300\ F 1 B 690 0 420 10 4,860 1,296
241481|F aR v HAh A |HHK 925
241481|FaR v HhA | B 875 0 875 5 3,024 1,296
242320 3+ d—IL K |##K 270
242320|Y 3+ 3— K | BH 270 0 90| 10 5,130
242830|3 LW AT e 6,530
242830|5 LW AT & 6,530 0 5,150 10 7,020 3,672
242850| E#k Y A Z 1w 1,790
242850| EM Y A Z & 1,790 0 1,110 10 5,130 4,320
246000|L\B & [y 6,927
24600016 & FLE 389 172 217 0.25 432 248 486 410
246000|L\B & &I 290 0 260| 0.25 410 173
24600016 & & 1,860 0 1,822 0.25 475 324
246000|L\B & RI& 1,997 0 1,647| 0.25 486 194
24600016 & BE 1,990 0 1,030| 0.25 356 270
246000|L\B & =y 343 0 316| 0.23 324 248
247100| 77— 2 X O |#% 296
2471007 — 2 x By | &M 296 0 296 9 19,440 11,880
248300 |7 I e 1,500




| 248300[Em BEA | | 1500 o] 1500 15 ] | | | 11.880] | 3.240]




